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o 227t AAsHe F Yolg Fatel o FL AL &
LR ¢ 81 + 54 = 1.5(a),
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5799 719 T :

140.8 X 5 = 704(cm)

717 & S A9t 4 H 719 -

139.3 x 4 = 557.2(cm)

e i e 7] © 704 — 557.2 = 146. 8(cm)
71 ZFe shAS A QIS 4 B o] 7] 9]

141.9 X 4 = 567.6(cm)

717 2F2 sHA 9] 7] & 704 - 567.6 = 136.4(cm)
717 2 shAla) 71 A2 skl o] Wt ¢

(146.8 +136.4) + 2 = 141.6(cm)
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)+8.4 =18.1
)=181-84=97

HE2 AAF: 9.7 x 8.4 = 81.48

— 81.48 - 18.1 = 63.38
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Sdolet I3t A Bt BFAE 39.4kg YU H. S 32.6ke
o1, $@e)7t Frrt 48kg7HATHA F@0] O] BRAE E kgAY
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Al ol BRAY &
39.4 x 3 = 118.2(kg)
Sdolot Bo) 3 -

118.2 — 32.6 = 85.6(kg)
Sdolo] B2 :

(85.6 —4.8) + 2 = 40.4( kg)




